Name: 5-a-day Foundation Plus
1st August *
Calculate angle y Corbettmotths
H 8cm Sin = o
H
3cm =
O Sin o= '8—
y - n 5
=g () = 22.02
,,,,,,, r 4 Describe fully the single transformation
that maps shape A onto shape B.
T T Evlorqement
6_ .....

Scale Coactor J?:
a(wub < (, S'->

ldenbifq cenbre
o¢ Chlufdag,h¢,.é.

Reflect shape B using x = 4 as the
mirror line

See shupe C

There are three colours of beads in

What fraction of the beads are green?

a bag. R . 41: &
The ratio of red to yellow beads is g < 3 27
8:3 ‘ 2+ g —
The ratio of green to yellow beads } 49
is 9:2. 16 : 6

6 27
Work out the reciprocal of 20.
Give your answer as a decimal

>~ - 0.05
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Name: 5-a-day Foundation Plus
2nd August *
CorbettmOtths
_n__ r Z Calculate the area of this quarter circle
2
— T x S
4+ 4
ul 2
5cm = 19.6 ¢m
The time, T, taken to serve the Explain why.

guests at a wedding is inversely
proportional to the number of
waiters, w.

The more waiters

Ehe less goests t’Le,cj
Cech have é’O Serve
So ElLe_ less Elme Tt Eeokes

The time is calculated by

_ 300
- W

Work out how long it would serve
the guests if there were 45 waiters.

T = 3060 _ oo
AS 1S
= é % M‘lnukes

The density of Nitrogen is

1.25x10° kg/cm?
Calculate the mass of one cubic
metre of Nitrogen.

3

lhl = |, 000,600 e~

Masgs = Beas('{-.:) % Volum e

/3

-6
.2 x10 » [0

= .25 kgq

Not drawn accurately

41cm
9cm R

38cm
DOQS P"J Cl-wuaara.( 0\(1(:(3

Is this triangle a right angled triangle?
g +38° = 1525
41" G381

125 F 68
So ns& rtﬁké"‘é‘mﬁ[ee—l

—

© Corbettmaths 2015

www.corbettmaths.com




Name: 5-a-day Foundation Plus
3rd August *
Solve (x +3)(x+5) =0 Corbettmotths
Either X +3 =0 > = -3

or HA+S5 =0 Y = -5

Mrs Reed buys a car costing
£11760

This cost includes VAT at a rate of
20%.

How much is the car without VAT?

£11760 <= |20

= £4%00

150 students visit a school canteen.

Some students have packed lunches.
Some students have a cooked lunch.

56 out of the 89 students who have
packed lunch are female.
There are 72 boys.

Work out how many females have a
cooked lunch.

T o LJA3 Table

Pa cheed (Coslce

Boys 72
Girls | Se | @2) | 78
ga | S0

22

9cm

Calculate the area of the sector

g6
360

T xq° x 80
360

=56.5 C,P—\.Z

2
MTr X
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Name: 5-a-day Foundation Plus
4th August *
Solve Corbettmoiths
7X2—3=2x+9 Tz —4x = [8+3
_ ( +9l) 30 = 21
71_ —3 - 2 2 - E
Tow =3 T4xX+1¥ 3
2 =7
Find x. . _ 0
X B.7cm u St = 0
Sla st = 4.5
n o)

4 Hcm o

-
X = Stn-‘(%> = 52.1°

Solve the simultaneous equations

505 For % (@ @

2x — 5y =1 0] —
8x+3y=27 @ Ba +300) =27
— o277 -3 (=
ga-204 =4 & € :
_ _ B2 =2« =t
23‘3 =23 “=U X = 24 =R
Find the volume of a piece of wood Loo
that has a mass of 600g and
density of 0.75g/cm3 O-75
vV = ﬁ = 860
D

0.84 has been rounded to two decimal
places.

Write down an inequality to show the
range of possible actual values.

0.83 &£ X £0.84F¢
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Name: 5-a-day Foundation Plus

5th August *

Write in standard form Write in standard form ~ Corbettmaihs
8 0.0000000000034
120 X 10 _ 2
= 9. 4 x O
= 1.2 X | o

In the space below, draw a 80° angle.
Construct the angle bisector.

/

/

/

The circumference of a circle is A 2
60cm. res. = T/
Work out the area of the circle. 2
=T (30
2mec = (O T
r= Lo _ 30 = 286 cm
21T ™
A rectangular field is 20 metres Find the area of the field.
longer than wide. Lx +~40 = 2€0
Adx = 286-4q0
The perimeter of the field is 280m. &, = 240
2420 249
%b20 +x . = <& = (0
o
Fx 420 A =280 2]
Area. = BO xb0 =4800 m
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Name:

5-a-day

Foundation Plus

6th August

N

Solvex2+x-6=0

(> +3)(x-2) =0

or X —2.26 = x =2

CorbettmoOtths

y

\Ny

Describe fully the single transformation that maps shape B onto shape A.

Ehi!f\raaheut S‘cq_(a_ “p&c(:-ar Ji Qkout (7)6)

£€={1,2,3,4,5,6,7,8,9,10, 11,12}
A = {numbers less than 6}
B = {prime numbers}

Draw a Venn diagram for this information.

A g &
£ 4

10
6 12

Calculate the volume of the sphere.

Give your answer to 1 decimal place.
V= Zr 3
3
Ao (1
3

—-—
——

3
= S§515.3 m
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Name: 5-a-day Foundation Plus
7th August *
CorbettmOtths
Calculate the volume.
6 cm Give your answer in terms of 1t
= h
VvV = 1’
2
< > v - 1T X é X G
12cm _ 3
= 21T cwm

A light flashes every 50 seconds.
A buzzer buzzes every 3 minutes.

They both operate, how long until
they both operate again?

§0, 100,150, 200, 250,300

'''''

—

0

<|X

/
005 = LS min
Calculate the density of a piece of €0 3
wood with a mass of 80g and a D e"“é‘] T 2, q[em
volume of 90cms3 ©

—
—

O.ggq %/CW\:S

r'e §58m @_: b (;g\
o | 15
PPE— M - o
1.5m @’ 7§'§

A ladder is placed against a wall.
To be safe, it must be inclined at
between 70° and 80° to the ground.

Is the ladder safe?

So vyes tE is Safe

Calculate the length of the ladder.

P-lelm,bora.s
:)Cl: l~3‘1+8'.?1
x- = 35.¢4

X = /Ss.f"l

X = 5.9 m
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Name:

5-a-day

Foundation Plus

8th August

N

Expand and simplify 6(w + 3) - 2(w - 5)

b+ 1§- 2w - 10
bw+Z

—
o

CorbettmOtths
Can you spot any mistakes?

Cw+ I8 —2w 10

—
—

4 w + 2%

Four chairs and two tables cost
£218.

ha @

l2a ¢ +14T

Six chairs and seven tables cost S - @ 1T =¢20

£587. A¢c + 27 = 2180 —r——s;o__és.
GC + 1T = S—g_,@ SvB l'v\G) = 2(¥
12¢ 61T = 654 0® acr oo

Find the cost of buyings twenty
chairs_and five tables.

4c = gg = =22
20C+ 5T = 20k +§x65 = £

E D Express in terms of a and b the vector
oc - _ =2 —>
/ C / \ OF = oA + Re
A F
a// / / - & 4+ b
0 b B 6
A cube with side length 8cm is P ~ F
placed on the ground. The pressure -
exerted on the ground is 4N/cm2. A
4 = _
What force does the cube exert on -
¢
the ground? § 6%
F saxte = 26¢ N

.
I 2mch + 2mre”
12cm = torved
___________ Surfare
.......... |
Hem

Calculate the surface area

2
2meSxll 4 2T xS
R

q—
—

534 v
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Name: 5-a-day Foundation Plus

9th August *

Calculate the perimeter of this quarter Corbettmatths
circle 2 T

s 4+

4
= 2meS 4 ¢ 4y
— ui
« 5
= 177. 85 ¢ cm

The mean of four numbers is 10.
Three of the numbers are 9, 11 and 7.
Work out the fourth number.

So Eobkal = 16%4 Looekt, s 13
= 4o

Input emppt x 3 '-H + ¢ |y Output

Find the output if the input is 5

S x3 x3 = 45 .. 5'—2
4 2 g g

Factorise x2 + 10x + 9

Cx+00x+@>

Q41+ =27
40 —27 = %

Match each of the following 4x +y Expression
X+ X+ X= 3x Equation
5x-2=128 Formula
V= lwh Identity
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Name:

5-a-day

Foundation Plus

10th August

N

The table shows the probabilities
that a sweet taken from a jar will be
red, pink or purple.

There are 4000 sweets ~ Corbettmaihs

How many are purple?

4060 x 0.3%

Colour Red Pink Purple
Probability | 0.4 0.25 = laoo
\ -<O.4+o‘u'> =0-73¢
Simplify
3.3 2 s 4
2a°c” x 3a"c¢ = Gac

y=x>

Complete the table of values and draw
a graph

o
X210 1] 2]
v iI-gl-tlol ]3]
Solve @D+ 1ax = 3g
2x-3y=1 0, = 38 _
i 14 =
3x+5y=1 @ S0l - ) 1€ +/5y =7
l()n’lfll:?\f ) 1§ = — 1§
@ :2 \J:'—(

Qo +1§q= 3

%
{3:——)
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